
Algebra 1 Honors Extra Practice Term 1    36 points total   

Show all of your work on loose-leaf. Problems should be organized and in order, and it should be done in a clear 

manner. #6’s graph is to be completed on graph paper. I will not mark an answer correct unless it has the work to 

go along with it.  DUE ON THURSDAY NOVEMBER 8TH. (there are NO exceptions to these due dates!!)  

*** PLEASE SEE THE REVERRSE SIDE FOR GENERAL RULES AND GUIDELINES FOR THIS ASSIGNMENT *** 

1.) Using the sets D, E, and F, find the following. You may create your own Venn diagram if needed. (1 pt each) 

D = { 𝑥 |𝑥 ∈ 𝑊, −2 ≤ 𝑥 ≤ 4}   E ={ 𝑥 |𝑥 ∈ 𝑍, −4 < 𝑥 < 6}  F = { 𝑥 | 𝑥 ∈ 𝑁, 𝑥 ≤ 7} 

a.) D ∩ F      b.)  (D ∪ E ) ∩ F        c.)  (F  ∩ E )’    

d.)  (D ∪ E ) ∩ (D ∪ F )   e.)  E′     f.)  (D ∩ F) ∩ E′ 

2.)  Solve each.  (2 pts each) 

a.)   3𝑥 −  (𝑥 −  5) −  2 =  𝑥 −  3 +  6     

b.)  
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3.) Find the x and y intercepts of each.     (2 pts each) 

a.)   𝑦 = −
1

3
𝑥 − 5  b.) 2𝑥 − 𝑦 = 17   c.)  

1

2
𝑥 + 2𝑦 = −3 

4.) Simplify  
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(𝑥 − 1) −

3

4
(2𝑥 − 2)  (2 pts) 

5.) State all of the sets of numbers to which each belongs.       (1 pt each) 

 a.) √20     b.)  −
5

7
    c.)  10 

6.) Find and state the slope and the y-intercept of the line 2𝑥 −
1

3
𝑦 = 3. Then, graph the line on graph  paper, 

plotting at least 3 points. You may scale your graph if desired.   (3 pts)  

7.) If 𝑓(𝑥) = −3𝑥 + 2  and  𝑔(𝑥) = 2𝑥2 + 7𝑥, find:  (1 pt each) 

 a.)  𝑓(−11)   b.)  𝑓(𝑥) = 11   c.)  𝑔(−3)  d.)  𝑔(−
1

3
) 

8.) Write 3
3

1
2  yx  in slope-intercept form.   State the slope and the y-intercept.      (3 pts) 

9.) Solve   
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